A £ 0l & AF & S

Al A

S SI|ED
L E I PSS IET
SR AYNZ =T 2SI (crel: g)
SA - B S9(SH) - NIRAY - BES o &r o - HIDS2
=e)|2t 3,753,3%0 3,417,867 335,503
2 365,150 265,150 100,000
| 6, 152 5,750 402
= 405,400 405,400 0
2 2,976,688 2,741,587 235,101
=SBIESTEn 3,670,460 3,343,048 327,402
2 365,150 265,150 100,000
] 6, 152 5,750 400
= 405,400 405,400 0
2 2,893,748 2,606,748 227,000
AYRS Y8y HEXE 173,200 173,200 0
2 12, 150 12,150 0
= 16,200 16,200 0
2 144,850 144,850 0
JIATHGH CHS ol 2Al X2 54,000 54,000 0
= 16,200 16,200 0
2 37,800 37,800 0
206 T2 6| 54,000 0 54,000
= 16,200 0 16,200
2 37,800 0 37,800
01 THE 54,000 0 54,000
SIIATHGH CHS Bl 2RI(0-140A SEI)
100, 00021 *540ha 54,000 0 54,000
= 16,200 0 16,200
=z 37,800 0 37,800
301 LBHRFS 0 54,000 54,000
= 0 16,200 A16,200
2 0 37,800 37,800
14 JIEF2 413 0 54,000 54,000
SIIATHGH CHS HoH 2RI(206-012 Sei)
33 0% 0 54,000 54,000
= 0 16,200 216,200
2 0 37,800 A37,800
WA MIIZ22 306,320 229,320 77,000
= 14,200 14,200 0
=z 292,120 215,120 77,000
AEBIRA HILIXIEAS 98t LPate AlE 3,000 0 3,000
40 SI2FXF2 01 & 3,000 0 3,000
01 SIZEXFRARY 2 (RHAITHR! ) 3,000 0 3,000
SA&TIRA HLXIEAS I8t LPEH A
S 10,000, 00024 #50H A+70% 35,000 3,000
D15t ST THHH RUD MAAIE AL 42,000 42,000
40 Q121 XF201 & 42,000 42,000
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el
DS

DA MDIEES (SH9 H2)
SA - FE - SRA(3H) - MRAE - BES Off &4 I8N BlunsZ
01 QIZEXt He) 42,000 0 42,000
=J| A&t 2 MAAIE AlE
,000, 000 #2&*17H 2% 7(f% 42,000 0 42,000
P H2II= 1,560,633 1,300,231 250,402
= 143,000 43,000 100,000
J| 6,152 5,750 402
== 39,000 39,000 0
ia 1,362,481 1,212,481 150,000
SANEM O|UEZ ELBA 6,152 5,750 402
Il 6,152 5,750 402
206 THZHI 6,152 5,750 402
Il 6,152 5,750 402
01 =4l 6,152 5,750 402
oZAXMEN 0IWEE SLHA
Z3 6,152,000& 6,152 5,750 402
Il 6,152 5,750 402
EASE JIEER 24018 = 200,000 0 200,000
= 100,000 0 100,000
= 100,000 0 100,000
405 KHAHH SH 200,000 0 200,000
= 100,000 0 100,000
= 100,000 0 100,000
01 M ESFH SHI 200,000 0 200,000
o|CPEHl & 2A4JIUH 7Y
200,000,000 *14] 200,000 0 200,000
= 100,000 0 100,000
ia 100,000 0 100,000
HAEHE WNsHE =4 50,000 0 50,000
401 Al HIZL 201 50,000 0 50,000
01 Al 50,000 0 50,000
oHAEHE WEE =4
50,000,000 * 100 2 50,000 0 50,000
Heas(sglisn) 8,101 0 8,101
PPN 8,101 0 8,101
L=PSDNES 8,101 0 8,101
802 grat=DIE 8,101 0 8,101
02 Al - SHIEESBHE = 8,101 0 8,101
o2022E JI&THoH S ol LMK
8,100,000 8,100 0 8,100
o2022E B MAHIEZY Sl ZEAMEY
340 1 0 1
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